=iy HERX HREE ZERE aigE ZERMER
BAZ (B1E) 0 0 0 -
BKEEER
BA= ($2E) 1 1 1 1.0
AAR (E1E) 0 0 0 -
) AR ($20E) 1 1 0 —
REEYR
BAZ (F1E=) 0 0 0 -
BAR ($2E) 0 0 0 -
AR (FE1E) 2 2 2 1.0
ABR (F2E=) 1 1 1 1.0
ANA VEEER)
BAZ (F1E) 0 0 0 -
BAZ ($2E) 1 0 0 -
BCHE (581E) 16 15 4 3.8
HCH#RE (552E) 21 21 5 4.2
EIPRE AR B (B3E) 17 13 4 3.3
AAT(E1E) 15 15 12 1.3
AAR (8B20E) 7 5 3 1.7
BCHE (1) 55 55 23 2.4
HOHRE (552E) 56 55 29 1.9
HCHRE (583E) 29 25 11 2.3
EFRZFER Ax= (E1E) 29 28 18 1.6
AR ($20E) 20 15 7 2.1
BAZ (£1E) 8 8 8 1.0
BAR (2E) 12 11 6 1.8
AR (E1E) 18 16 10 1.6
AR ($20E) 15 8 4 2.0
s 27 LATER
BAZ (F1E) 9 8 5 1.6
BA= ($2E) 14 9 4 2.3
ABR (F1E) 12 11 4 2.8
AR R (F2E) 7 6 4 1.5
BFRTLIER
BAZ (F1E=) 1 1 1 1.0
BA (552[E) 4 3 1 3.0
AAR (F1m) 22 22 3 7.3
AAT (20E) 8 6 1 6.0
BRI ER
BAR (F1m@) 9 9 2 4.5
BA= (552[E) 17 11 2 5.5
AA= (510E) 2 2 1 2.0
AAR (F20E) 1 1 0 -
FHAVER
BA (5B1E) 0 0 0 —
BA (820E) 1 0 0 -




